a C)"’l@"}ﬁ& ) e Lm'nﬁh'umﬁ%; (<E) ot He il'"@i@i**
W= AKE

Looking at the formulas:
k"// \
KEQ = K&

Work-Energy Theorem Notes

https://www.brightstorm.com/science/physics/energy-and-momentum/work-energy-theorem/

Definition:

Work-Energy Theorem- N V1cA Wk o on obiect CarISES ——
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Looking at the units: .
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Practice problems:

1. What is the net work required to accelerate a 3kg object from 2 m/s to 4 m/s?

Z
Formula: UJ‘—'- Ji-_mug; — 'l.i*_m\ffz

Plug in numbers:
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2. What is the net work required to accelerate a 10 kg object from 8m/s to 14 m/s?
Formula: k)= mu&_ = & My 13

A
Plug in numbers:

o= Z(oe(iqmsyr —L( jprg)(g™s)
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Answer:

W : Lo 3
3. What is the force required to move a 12kg object from 4m/s to 6m/s a distance of 2 meters?
Formula: = L 2 — .2
ormula FCL — imU&: J/E.mul

Plug in numbers:
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4. A 1500 kg car accelerates from rest to a velocity of 25m/s over a distance of 45 meters.

a. What is the change in kinetic energy? :
pre= KEg ~EEu
) -2

2 (1500¥8Y 25 Misy — }{Wﬁi
Qe 408,755 T)
b. What is the work done on the car?
UQ - ANE
(Lo = ALt Z‘D/D.aj

c. What is the net force applied to the car?
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